Section 7-6: Function Operations

What do you think each of these means?

(f+ g)x) (f—g)(x)
S(x) + g(x) Sfx) —g(x)
(- 9)) (§)w

Sf(x) - g(x)

Use these funcitons:

f(x) = % - 3x g(x) = x-7
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2. Find g(2) ey
3. Find f(g(2)) z

F-s)= 4

1. Find f(-

Use these functions:

f(a) = 227 + Ba g(a) =4a h(a)=a+ 3

Perform each function operation and state the domain.
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Composite Functions:

"f of g of X"

same as

f(g(x)) (fog)(x)

Substitute function g into function f



given: h(r) = 3r-1 k(r)=r+1 Use these functions: f(x) =x2+3x  g(x) = 5x
find h(k(3))
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& 1. f(g(x) 2. (gof)(x)
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Find each. Simplify.

3. f(9(3) & (eehln)
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